
Steps to Success 

Lockdown 
Date  

Subject/s Maths 
Learning Objective 

 
To convert units of weight 

 

 
 

SA 

 

TA 

 
Success Criteria 

 

I know there are 1000g in 1kg   

I can multiply and divide by 1000 using or visualising 
a place value grid 

  

Support     Independent               Adult Support (       )             Group Work 

Pre-task: 

Convert these units: 
178kg = _______________g 
2.5kg = _______________g 
______________kg = 5695g 
______________kg = 259g 
 



 







Problem Solving and Reasoning 

 

 

 

 

 

                         Show all of your woring out 



Answers 

 

11.853kg 

 

439 x 27 = 11853 

 

11853 divided by 1000 = 11.853 

2.752kg 

600 + 600 + 792 + 750 + 10 = 2752 

 

 

 

78 x 3 = 234 + 39 (1/2 78) = 273p 

(£2.73) 

 

1.46 divided by 2 = 0.73  

1.46 + 0.73 = £2.19  

 

£2.73+£2.19 = £4.92 

 

£5.00-£4.92 = 0.08 

 

 



Further Challenge 

What's My Weight? 

 

 

 

 

The picture shows four equal weights on one side of the scale and an apple on 
the other side. 

What can you say that is true about the apple and the weights? 

If the apple weighs 180g, how heavy must one weight be? 

If the apple weighed 375g, how heavy would one weight be? 

If the apple was a giant one and weighed a full kilo and the weights were each 250g, what would 
the scale look like? How do you know? Can you prove it? 

 

Further Challenge 2 

Baby's Weight 

Weighing the baby at the clinic was a problem. The baby would not keep still and caused the scales 
the wobble. So I held the baby and stood on the scales while the nurse read off 78kg. Then the nurse 
held the baby while I read off 69kg. Finally I held the nurse while the baby read off 137kg. What is 
the combined weight of all three (in kg)? 

 

 


